mnwy T'02

e 1 190n wiaw 727N 971

n7wn .1

T R 15— 3 x (25— 20) =

SRR o e 38x1-0:22=

¥awnma (= WX < W >)  DNINN DN DN 9N ,avnD 93

4x7x]x1\ ‘4x7x2

.0oN2IYN NN 17N

DINTINN 190NN TN NOWN

13 X 24 ~ Xx4%x13=0 6 x + 6 =60 N
6 X ( + 6) = 60 2
4
2700 PN INPI NP DOHN DN VOO ,PNTHNI aWND D (N)

51 x21=

100 (1)

1.000 ()

5.000 (3

10,000 (@

19700 PINAY AN NPN 90NN NN DNNND T (3)




I7ONI NAX YRR PN YN

S1ovnn N mna (1)
1

ynn = -9
2

RO RAVIEa)

YA %-n My (@)

27072 DR 7200

TETF
TETFF

(4)

:0'N19NN Y11 190 .6

DN n 1 rxne? 1o%wn

4

TPAPN WY VIVIIN NN VA0

(3) (2) (1)

[/

17

:awn? '72n 1onn 190nn NN mMwn .8

19017 onyan 'R N'aon




